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,���& gOP$ $� �4��/9   p�$�1 .�$����� �K ��R�$� ]!� 


���$
7 a���  .�(��3$�� F� �+� n�/,� G� .("� �
9 G�%$�� ���&
� p� ��$� ��� �$ .
	�	 �+R  
	 
���$
7 ��w~7 

�3��	 & ����a� ����
 ��,�� .�(�� G,($� �/(
 ,+� G�
��T� F�$
��9   ��,� �   �(�� �$
(� ��$ !6/���7  ��$

 ��(�
9!	$ (�� F��6� G��I7 $� JO,9$��Z 
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����� �7
 $�� $�3 �& ]4$�� �/( G� ./&]�  �/( G�  �P�� 4�]� ��I7G3�4  �� $� �
93�$��$  G&��R� !	$ 3��/�� 

F�(Z��$ �$vb� l$�,($ G��	 .DS�
	�4 ]4 � i�
�1 ��
� ��Z
	�	
 G���3�4  �+�� A�WOK$   F��,+� ��$� �
% .  

https://abscent.org/nosewell 

Fifth Sense – smell training 

 

    ��$ ��,+�  �$G�  F����$ 
� G&
	�	��7 $� �$� ��� �$FZ�	$  .("� ��$ !6/�
�
/W    i
� \dS,� G� $� �/(

�   jV�
�� � y�%�$�� �7 �4�	 
� ��$� ��� �$ 8VW
	�	 �
� ������� �
��  Z��& �� $�G��
d9 /5$� �$���$ ��$
 �
�� 

�$��	4 ZG��a�~,� .�� ���1
+	 � ��$
,� G& ��$�� �
% D�
��� 1 G& ��&�	 
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	�	 4$
9 ��� G� $� �
9��  �� 1�	 

9Z��  �� ��$F�$�3�4 �
9
 �$�]	  ��+� G&
��4� ��3��� $� ��$��/�  �
TQ�
�����	t  ��R�4$!	 �
TQ�3 ��R!	  p� F��

� $ ��
aW �$G� .�4� ��  
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17 .=���� � W��
��;�1 EPOS 

�� �(� R"#����&�� ���)EPOS 2020 ��	� ���5 ��  

    Kq� V��&
 �4�
( �� �$3 7�WOK$
 �Z��/�  GV/%�$G/%�7Z�4 �� �.�� ��	 :��$ _�,�� ��  

https://www.europeanrhinologicsociety.org 

    $��3 ;�4�+�  8��& 8/��$�
,���	  mPO9�1 
����$
7 0  �$���	 ��	 ���	 �&��:  

https://epos2020.eu/ 

     ��!	$ F�b	�� yOK$
���� � 3�4���� T��%
 ;�����EPOS 2020 �� ,9$��� G=OW .��$� �$�= �$��� nOo� »EPOS 2020 :

R m/4
	�4"� �� G&�	 �$����« .�c/4!� 
����$
7  ��
� ����I	$ 8/��$�
,�� EPOS 2020 ��
7 i�$"� ��G3 

O�1 ;�(�+,��!	 �& G���<��� .��$ Vb�$
������ ��,���PO9 Zm 8/��$�
,�� EPOS �"�  G�����3�4 ��,�Q�Z
 ���7��
 

R  ��
 $ ��!	 0 ���	 .��$ �
%
�  

 

�� �(� �����) �)�/.F� ��E���� �� ���� ;��"�� <�4� �8E�) ��! ���5 ��	�  

    !/I�$ �� �$
	 BC7j�  i�
�1  m������ @��13   3��/��3�4 
�a�7 (EUFOREA) .	 � ������!�
VV/�$ f
W�a,�$�� 

]+R G& ��$�
�~�   �$��$
,	 �,�$� ��3 �3��b+� �$ @��1Z3 �   ]�1�	�
���
�	 $ .��$� �1 D4�&   !�"�!	 !/I�$�4 

$�$�3 .	 � *�� �V���/� 7�WOK$ ��
 � ��
� ���	�
���
�	 @��1 Z!�"�3 (�
�1 A�WOK$ .��$ ]�1  
  8��=  
&��  $�


��$
7  ��
� ��.	 �Z3��/� OW]	 Z�����3�4 6("�
 �	 �$�%
  �$ A$��r,�$ Z�
%
�������4   �3��b� �3��/� �$�� 

�c/4 .��&!� AN$x� ���,� J $�,�3 � �$�$��/�  ��^���3�4 G5$�$$ �� ��ddS,� H�
7 F�(!	 ��G��  .��$� �
% 


����$
7 $ *�/7!	 � �� $� A�WOK$.�� ��	 ������:  

https://www.euforea.eu/patient-platform 

    �/(  �$JO,9$ �_
��3�4 �6( �
9�	 �$��	Z /� ��$
���$� � ��$ !6/� G&�	�
���
�	  !�"��	 @��13  �
��1 .�(��

��L	 4� *�I�$ $���O�1 G���+��� !
�	 $��3 ����
 $G6�	 1�	 OW]	  G� k
��� ��$ !6/� �/(.	 �3��/� �a�7 !�"�
 

� ������	�
���
�	  !�"��	 ����	 @��1.	 $ Z�(����I	 $ .��$ F�(!	 ���1D	 3�% S+7\� $    }uG�P
73�4 6("�
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 $�
/�����OW ��$ .]	 /4 Z��$ F��4��$�1 �/(G+� ���	 �& G�%$�� .("� G��� �
��1 .�
&v� � ��.�� ��	 ��,�� 8��=
 

��$:  

assessment-sinusitis-https://www.euforea.eu/chronic 

 

    I5�<2�3� ����R
 (e-diary) �	�; ��
���� <�4�  

mySinusitisCoach     )!+�6�V�$ ��O�Galenus $�� (3 �$"�$ m5$�$3 � �,6�$
6� G�  �/(G��$
�W .	 ���/� 

��I	$F�(G� .��$����
 �& �Tw $� �
9 _���$Z�� ��� �$�+43 $�� $�3 r�7  �$� X�d�]� �&��   ����T�  �/( �����

 ��BR�wx� �c/4 �/( .��$!� 
����$
7 � �� �
9 .("� �� $� �1��� �$vb��	   $ �7
(�b� 
V& �u  �$�� �3��/�  �/(

w~7  �� G� .�(�� G,($� ���������
 8�
� F�b( �� �� $� G�����V�
 �	 8�$�& �
V�$� �
,�$��� A�WOK$ .�,+�  ��
� ��

� $� G�����"� 
����$
7 �� .��� �	� ������:  

https://www.galenushealthcompass.com 

 

>	+���� ��4��R
 (e-diary) �	�; ^	�@; ,�@ �   

     MASK-Air.��$ F�( y$��$ ��/�� �$
�W G� �/( 3$�� .�� �,6�$ GV��  .	 �$
�W G� G� �/(����
 
����$
7 OW]	 

$� ��& �Tw $� G�Z�� ����$��, 
���$
7  ��BR ����� G& �4� ��+�   ��& ./&  �$� X�d� �� �/( G��wx�  �/( .��$

�c/4!� 
����$
7 � �� �
9 .("� �� $� �1��� �$vb��	 � ��  $ �73 V&
 �u  �$�� �3��/� T�   �(�� G,($� �/(��� 

�,Q�!	 $�� �����3 R �/(���G� .����
 �
���$
7 �� $� G����$ 8�
� F�b( ��V�
 �	 8�$�& �
V�$� �
,�$�� A�WOK$ .

��,+� � $� G����� ��
� ��"� 
����$
7 � ��.�� ��	 ������.  

https://www.mask-air.com 

 

���1 ��"�� 0���2� ;�	� ����"�� .&6� *� �
�������
� <�4� 

    3����� $ �4�
+& ��[�43�4 � ;� �+���/� �   jV�   i
� \dS,� .���$�
�� �� �/(�	 $ �� ��$
,�!	  �/( G� ��
�

 .��& ./&G��$
�W +S�
 �� �$ !/I�$ �$
	 $��3 BC7j�  i�
�1  m������ @��13   3��/��3�4 3��I� Z
�a�7 3$�� 
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m5$�$ A���9 F� �+�$3 G� ��$��/�  G� O,T��	�
���
�	� "� Z!�.	 4�[� � ;� �+���/� $ .��$� �
% !	 4�[� ���� G�
 

]Q��7!	 �3�4��� �Z�$��/� ����
 w~7�� �3��/� � ���$��/�  �&�(   G���%  �� hC��4 }<� �� 
���� 
���$��� .��$ 

=OWG�� G� ��!,�
� ,�4Z�� .	 $8�/	  G�
��+� �	� J���$ ���&:  

contact@euforea.eu 

3$�� `�& 
4��1   A�WOK$ �,+�� m������ !	$ �3��/� 
����$
7 G� .��� �	� G�%$�� ���&:  

https://www.euforea.eu/patient 

 

���=� � �+�6�&25 <"(+� 	&��� ;�	� AERD  

     
4 �� $��3 ��$��/� � G� O,T�3��/� �a�7
 �+7�	(�
�:�1 �� F�!	 (AERD) 0  �����	 �	� 8��= ��,��
 :��$  

https://www.samterssociety.org 

 

    �� !	$ F�b	�� yOK$
���� � �
9 ��
� ��3��/�   G�	"�3�4 �����
 7�WOK$
 `�& �
���&   
�7���$
 ddS,�
 

$ ��!	 ��G�� �$�� �&���c/4 �/( .!� 
����$
7 �K �$j	 ,+� F ��
��T� AERD-Samter's Triad � ��p� �$�$"4 �� l
�

���/� ��b	 �& �$�=�� k�T7�$��   G��I73�4 �$vb� l$�,($ G� $� �
9�	!  

  

,(�5 m�  

     ������
 $��3 
�W�	 ��$��/� G� k
��� ANO,9$ G� O,T� 
�
	�	 �+R  
	 �&�4 G� G& ��$
  �$ G&.	  JO,9$

� M�� HT7��
��� �	 ��$  G�!	 
� G� k
��� JO,9$ G� O,T� ��&�
&
	�	 �	 �+RZ
	 �/��	  F� �+�  G5$�$ �
�4� .

7�WOK$
 
� ��6V/W ;
C� ��
� ��
	�	 �+R  Z
	 S+7\�    HT7�� ANO,9$ �����  !,��	 V&
6��� $��3 ����� 


� ANO,9$
	�	 �+R  
	 �$�� 4$
9��  $� A�WOK$ *�/7 .��&
��$
7 � ��.�� ��	 G� :  �� 1 ���  

https://www.fifthsense.org 
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��8�� �����) (AbScent 

     ����� !	$G��
� G� jV�,�3$ 9G	�� $��3 �/��	 ,9$ G� O,T� �$��$ �$
� ANO
	�	   F�$
��93�4 �1��$ �4.  

�1�4    A�WOK$G�P
73�4 V/W
 ��R �� $�!	  G5$�$ *�a,V�
���4� ,+�  
��T� ��	�,/4 �$ A���9 
VP$ �1�4�� .�1�4 

��R!	 $�� J���&3 $!	 GW
/I� GV/%�$ Z���$� ��&3$ � ����  ������T9 m������ $�Z3@
�
�	 �$ ����(
 ��  �	 ,(�G3�4 

 ZHT7��!+�6�V�$ $���b	 
+ST�$
7 
�	
	� Snif   m6T(AbScent   �1 �� G&F� ��4  G5$�$
��
($ .!	 9 m��
�G	�� 

,P��
 $�� ��$3 �"� 8���7.	  ��F@ ��3�4 BC7
7�B� �c/4   �
9!� ��,��
  G�g�K3�4 BC7
7�B� %��9
$�� .3 

� A�WOK$Z�,+� � G� n�a<�.�� �	� �& G�%$����:  

https://www.abscent.org 
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18 .T[�:� %���&� ��  ����EPOS 

     !	$DS� G� � ./&�$��/� 9�8�  ��!	 �7 8/��$�
,��3�4 EPOS2020 G� i��b� F��1�� u
7 �7 ��$}� �4� 

8/��$�
,���4 $��3 ��$��/� ���� GR
	 .���$� 

 

 '"I�EPOS cEP� ��8��  

    m/V& EPOS A��TW qaS� European Position paper On Rhino-Sinusitis S+7 G& ��$\� ��  �	�	 

��	�
���
�	  �� $� !�"�   ����T=$��3�4 � $G� �,T�)
 
��w   (G���% ��G	 �)
��,���/� D(
� (
��4�.  

  

R"#����&��;�1 EPOS2020 ��8��  

    8/��$�
,���4 GPO93$ G� �$�7� �!	 ��   ����� ��
� �� A�WOK$�	�	 ��	�
���
�	 �
�  �� �
�� � $ .��$!� 

8/��$�
,��3�4 EPOS  J�� ��2005 $��I	  `=��,�   �(Z�1  ��J��3�4 2007 Z2012  J�� �� �
�&$  2020 G� � �

 Z8P$ �� .��$ F�(8/��$�
,���4 GPO93$ �% �$!	�7�	 r� G<B�A$� � ��
� ���	�
���
�	 �
�  �� �
�� .��$ 

$��3  �7!	 8/��$�
,���4 Z�$ �+�� 4�b+�$�
 ���  
�� $ ��!	 ��G�� �� 9�� ./&
 � �$Z�$��/� ��/7
  �
%
� A�WOK$

$ ��!	 ��G��  J�� �$ $�1960 ���� � ��$ G� �7
   ]Q�!	�7 !	 ��W $ .����& GPO9 $�!	 � �/�4$��b��� R3"� �$ G& �

,�4 j�$
� �����(��& �1 m/4�� �� G&�	 V�� ���� ��
 P
7G� .�
( 

  

�	� R"#����&���
�1 ��+�� EPOS T��	d ��+���  

    $��3 /K$���� $ �$G6�	  m/43�$��$ �K �4 G� G&
B	  ����� ���	 ���	�	 ��	�
���
�	 �
�  �� �
��  Z��,�4 k�T7�$ ��

G� �,Q�!	  �
%
� A�WOK$
��,�� ����$Z $!	 8/��$�
,��.���$� A� �u �4  

     6("� m,(�
 *$�� �7 J�� ����� BC7 �/,�� �
Q� .��$A�B� �%�	 (  F
�3�4 ZG,��	�
TQ� ��+���4�; ��/4$ 

����
 F��G�F�� $!	 ����+��4 /K$  ���� $ �$!	  ��$G& ��� ��6V/W
�� V��
 p6����91 ;���&!	 F���	� .��$  
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     $!	 1����	 �� *�/7 ��G��3�4 6("�
 � �$3��/�3�4 TV=
 � e�a7$ ��&�
& ��O� �7 G,���
�,�$ /K$  ����  �$

��,��
 $ m/4�$�� �,Q� G� ��Q% ��$�� ��!	 � �
%
� A�WOK$
7��  .��$  

    $��3 �,Q� m5$�$!	 �T=$��3�4 ,($�Q�Z
  �����G��
K $F�	1J ���	 6("� _��$ ��
 �,T�
 
( �� .�(�� �4$
��b�4G& 

.	 �,T� �����
 $ G� Z�(�� �4$
( ��!	 ���
 ��R G& ��$!	 ���1��&
	 /VW
 w~7��  �� $� �1.	 �/%�� ���/�  ��9

��$
��	 F��&$ ./& �� .��$!	 �,�M	 � .("� ZG���<�
��$
7  �$ F��a,�$ La� G�.	 a� G& ������� D��
� ���w F�( ��$ Z

P
7G�  ��&�	 ��
� �� P�9 �����
 � �wx� G&��� �	  Z��$ ���L�� �,� .��&M	 ���1��&
	3�4 /VW
 /� $�
�$
7 /4G+� 

G��
K $�� 8��&3 ��� �43 $�� �
9 A ��=   G��I7 �$ ��6("�   ��� ��& G�3  m5$�$G�����
����� 3�4 � F��a,�$
���&  G&

$��3 ���(��/� dS(
3��� X�4 .�(�� F�( EPOS ����
 *�/7 �1 ���& GPO9   �
%
� �4$
(V6( G� �4
  ��$

$�� G&3  ���&��&   ��6("��T=$��3�4 ,($�Q�
 $ ��!	 ��G�� G�
,�$� 8��= ���1 ZG��a�~,� .�(�� l��   F��a,�$D	3�4 

/VW
 "4�� `Vf$G�	 ��,�4 ��I�$  ��+ �$
(�t ,�O� G&$�R
 $  
�/	 �
�$��/� ���1 ��D	�4 ��C� �
Z��
(   

� �C��	
	�4 $��3 � Gc�1
�$
7 �1 �$��$� �
%  ��& ��$
9�� �4t $�����Z!	 $��3 9��
  �$������44 Z�� ��"� m���<�
 

� _�,�� ������ .� !��R ���=
�
	�4 ]4 ��� ��Q% ��$�� �$ �����(��& Z
���	1 &�,+� �r�  
 $ ��
� �� $�G6�	 

$ ��!	 $�(H	 �,Q�!	 �T=$��3�4 ($�Q�,
 ���R Z
� G5$�$��4� .  

  

R"#����&�� G�1 EPOS2020 ��8��  

     �1 X�4 m5$�$ J $ m%�� ��3s7$�,�$3�4 ��
,	�	 $��3 ��	�
���
�	 BC7 _��$ ��A�B� $ �$ �7$�� .��$ GK
���Z!	 

� ��$
�3��	 8/��$�
,�� G& ��$� �
%  EPOS2020 �$�$ �� �1 G� ��$ ��� �4���	$ X�4 .!	 �$�
,��8/� �4A��TW��$ 

�$: 

• GPO9 m5$�$$3 �,Q� �$!	 i �$�� �43 S+7\� ��  �	�	 ��$��/� � ����,���/�    G���% �,���T=$�� ��ddS,� G��43 

,($�Q�
 

• `�f�7 $�� ��BBC�3 � m���<��,+� ��	�
���
�	 �   ����	�
���
�	 !�"� 

• �	�/�  �$G�3�����& ���7q	   �����3�4 �$���,�$� 

 •�$�� f ����� D4�& G�3� �u�� )
,�1.�7
��( 
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 •
+7j	 $ G� �$��$��I	 3��6/43�4 �%�	 $��3 BC7 AN$x� G� ^���
7�B� 
�^���  

 

*��8� �� R"#����&��;�1 EPOS2020 Q��E&�� ������  

       �$��$F ��3�4 �Z3��	  �$��6("� �4��Q� �7 G,���3 ,� �Z
 �$ !	$ 8/��$�
,�� �Q�F 
�����.  

     !	$ 8/��$�
,�� �/�4$�
	
	�4 $�� $�3 �������43 ,� �
 p�$@1 ZHT7���43 V�
 �  !�
VV/�$ � G5$�$  �$�
�&�] nOo� 

 �$� p�$@1
	 �� �$ (EMA) �  �����  �$�   $vf $ ��AN�	 F�C,�  [(FDA)   !/I�$3�4 /VWZ
 G�Fs	   F��a,�$ ��
� ��

���7 ZA��O<P$ �$q	 GBTK  ���3 $��3 ���1D	3�4 ���
��]Q� .ZG/4 �$ �7 H�
7 8/��$�
,�� !	$ � M���� ��6("��$��/� 

� G� O,T�3��/� �Z
�
�� � F��a,�$
�
( /K$ �7���� �T=$�� G& �
( 8P��3�4 �,T�
 � m/4 G� �4$
( ���$��/�  G5$�$

�
�
(. 

 

*��8� EPOS �� ����8
�+  

    4 ��
 �!�V/�$
V  G& ��ddS,� �$m������ ��	�
�� �
�� �
�  �� �
�� � �+�  .��,�4 

    �B7 n�T	  A��F�I4 F�� ��+& J
K  � ��  ��,+4 � �$ �a�D�  �$����  �
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